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c}d ²¥¾^c  

 

JqVW 
(\¥Op^r EdXp) 

MATHEMATICS 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 80 
Time allowed : 3 hours Maximum Marks : 80 

 qHc\p HcHy q²¾crIV Hc de} qH qBg \of²¾ \§Wc Wy N\y h}By 8 \¥²y¾ h²¾ & 
 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

`t§I \¥²y¾ Wy kcvc qd§IV & 
 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 30 \of²¾ h²¾ & 
 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 
\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 
qdIVJy & 

  Please check that this question paper contains 8 printed pages. 
  Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 30 questions. 
  Please write down the Serial Number of the question before 

attempting it. 

  15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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 40/3/1 2 

qeAp\H q²¾cYyf : 

(i) gpcy \of²¾ kcvcr h²¾ & 
(ii) qBg \of²¾ \Wo qeM 30 \of²¾ h²¾ O} Mpc I¥Tp£ ¹ A, ^, g AWy Y 

qe§M e¥Ty h}By h²¾ & 
(iii) I¥T A qe§M qB§H-qB§H A¥H epdy 6 \of²¾ h²¾ & I¥T ^ qeM 6 \of²¾ h²¾ 

qO²¾ªp£ qeM~ hc qBH \of²¾ 2 A¥H Yp h± & I¥T g qeM 10 \of²¾ h²¾ qO²¾ªp£ 
qeM~ hc \of²¾ qW¥²¾-qW¥²¾ A¥H Yp h± & I¥T Y qeM 8 \of²¾ h²¾ qO²¾ªp£ 
qeM~ hc qBH 4 A¥H Yp h± &  

(iv) \of²¾ \Wo qeM H}Br qeAp\H M}V ²¾hs h± & q³c er 1 A¥H Yy 2 \of²¾p£ 
qeM, 2 A¥H Yy 2 \of²¾p£ qeM, 3 A¥H Yy 4 \of²¾p£ qeM AWy 4 A¥H Yy  
3 \of²¾p£ qeM A¥Ycv²¾r M}V qY§Wr JBr h± & AOyhy \of²¾p£ qe§M~ hc qBH 
qeHd\ qeM~ Hyed qBH ²¥¾v MtV Hy hd Hc²¾p h± & 

(v) H±dHtdyRc ApqY Yr ecW~ Yr `²¾phr h± & 

I¥T A 

\of²¾ g¥qIAp 1 W~ 6 WH hc qBH \of²¾ 1 A¥H Yp h± & 

1. Y}KpWr g`rHcV (x + 5)2 = 2 (5x – 3) Yp qTgqn`r²|¾R \Wp Hc} & 

2. \Wp Hc} qH g¥qIAp 
243 352

27

..
 Yy Yf`de cv\ Yp Yf`de Yy qHW²y¾ 

gXp²¾p£ W~ ^pY A¥W h}eyJp & 

Op£ 

g¥qIAp 429 ²¥¾v qBg Yy A_pO JtV²¾I¥Tp£ Yy JtV²¾³d Yy cv\ qeM qd§I} & 

3. 6 Yy \±h§dy 10 JtVOp£ Yp O}m \Wp Hc} & 

4. OyHc q ¥̂Yv A(0, 0) AWy q^¥Yv B(x, – 4) Yy Ycq`Ap²¾ Yvcr 5 qBHpBr h±, Wp£ x 
Yy `p²¾ \Wp Hc} & 

5. AcZ qeApg a AWy b (a > b) Yy Y} g`HzYcr M§Hc qYWy JBy h²¾ & e§Ty M§Hc 
Yr eWc (Orep) O} qH N}Ry M§Hc Yr g\cf cyIp h±, Yr d¥̂ pBr \Wp Hc} &  
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6. qM§Wc 1 qeM, PS = 3 g±.`r., QS = 4 g±.`r.,  PRQ = ,  PSQ = 90,  

PQ  RQ AWy RQ = 9 g±.`r. h²¾ &  tan   Yp `p²¾ \Wp Hc} &    

 

qM§Wc 1 

Op£ 

OyHc tan  = 
12

5
 h±, Wp£ sec   Yp `p²¾ \Wp Hc} &  

I¥T ^ 

\of²¾ g¥qIAp 7 W~ 12 WH hc qBH \of²¾ Yy 2 A¥H h²¾ & 

7. q^¥Yv A(3, 1), B(5, 1), C(a, b)  AWy D(4, 3) qBH g`p£Wc MWtc_tO ABCD Yy 
qgIc q ¥̂Yv h± & a AWy b Yp `p²¾ \Wp Hc} & 

Op£ 
q^¥YvAp£ A(– 2, 0) AWy B(0, 8) ²¥¾v O}m²¾ epdy cyIpI¥T ²¥¾v q^¥Yv P AWy Q qW¥²¾ 
^cp^c _pJp£ qeM e¥TYy h²¾, q^¥Yv P q^¥Yv A Yy ²¾kYrH h± & q ¥̂YvAp£ P AWy 
Q Yy q²¾cYyf A¥H \Wp Hc} & 

8. hyS¾ qdIy cyIr g`rHcVp£ Yy O}my ²¥¾v hd Hc} : 

  3x – 5y = 4 

  2y + 7 = 9x 

9. OyHc 65 AWy 117 Yy HCF ²¥¾v 65n – 117 Yy cv\ qeM YcgpqBAp Op gHYp h± 
Wp£ n Yp `p²¾ \Wp Hc} & 

Op£ 
qW¥²¾ d}H geyc Yr g±c Yy dBr qBH§Sy¾ ^phc q²¾Hdy AWy E²¾ªp£ Yy HY`p YrAp£ 
d¥^pBrAp£ Hc`epc 30 g±.`r., 36 g±.`r. AWy 40 g±.`r. h²¾ & hc qBH ²¥¾v KR} 
KR qHW²¾r Yvcr W± Hc²¾r \ByJr qH Eh gpcy Ap\Vy \vcy HY`p£ ²¾pd ^cp^c 
Yvcr WH MdV ?  



 

 40/3/1 4 

10. qBH \pgy (dvT} Yr JrRr) ²¥¾v qBH epcr ENpqdAp qJAp h± & g¥_pe²¾p \Wp 
Hc} qH (i) \op\W g¥qIAp qBH _pO g¥qIAp h±, (ii) \op\W g¥qIAp qBH A_pO 
g¥qIAp h± & 

11. \vc²¾ ecJ ^²¾pEV Yr qeZr ecW~ HcYy h}By YcgpG qH g`rHcV  
x2 – 8x + 18 = 0 Yp H}Br hd ²¾hs h± & 

12. HpcT qO²¾ªp£ E\c 7 W~ 40 WH YrAp£ g¥qIApep£ qdIrAp£ h}BrAp£ h²¾, qBH \yRr 
qeM c§Iy h}By h²¾ & \v²¾` E²¾ªp£ qeM~ qBH HpcT AMp²¾H, q^²¾p£ qeMpcy, ^phc 
HUYr h± & g¥_pe²¾p \Wp Hc} qH \v²¾` cphs HUy h}By HpcT E\c qd§Ir 
g¥qIAp 7 Yp JtVO h± & 

I¥T g 

\of²¾ g¥qIAp 13 W~ 22 WH hc qBH \of² Yy¾ 3 A¥H h²¾ & 

13. qHgy qWo_tO ABC Yy qgIc A W~ _tOp BC E\c ^qVAp qJAp d¥^ BC ²¥¾v q^¥Yv 

D Wy qBg Wcªp£ q`dYp h± qH DB = 3CD & qg§Z Hc} qH 2AB2 = 2AC2 + BC2. 

Op£ 

AD AWy PM qWo_tOp£ ABC AWy PQR YrAp£ Hc`epc `pqZHpep£ (medians) 

h²¾ OYqH  ABC   PQR  h± & qg§Z Hc} qH 
PQ

AB  = 
PM

AD  h± &  

14. ^ht\Y p(x) ²¥¾v ^ht\Y g(x) ²¾pd _pJ HcHy Op£M Hc} qH Hr g(x) ^ht\Y p(x) 
Yp qBH JtV²¾I¥T h± & qY§Wp h± qH 

 p(x) = x5 – 4x3 + x2 + 3x + 1,   g(x) = x3 – 3x + 1 

15. qg§Icp£ A(0, – 1), B(2, 1) AWy C(0, 3) epdy qWo_tO ABC YrAp£ _tOpep£ Yy `§Z 
q^¥YvAp£ W~ ^V²¾ epdr qWo_tO Yp IyWc³d \Wp Hc} & 

16. g`rHcVp£ x – y + 1 = 0 AWy 3x + 2y – 12 = 0 Yp Jcp³ ^VpG & qBg Jcp³ 
cphs x AWy y Yy Y}²~¾ g`rHcVp£ ²¥¾v g¥WtfR Hc²¾ epdy `p²¾ \Wp Hc} & 
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17. qg§Z Hc} qH 3  qBH A\qc`ya g¥qIAp h± & 

                Op £ 

Eh e§Tr W~ e§Tr g¥qIAp \Wp Hc} qOg ²¾pd g¥qIApep£ 1251, 9377 AWy 
15628 ²¥¾v _pJ Hc²¾ Wy Hc`epc 1, 2 AWy 3 ^pHr ^MYy h²¾ & 

18. A, B AWy C qWo_tO ABC Yy A¥Ycdy H}V h²¾ & YcgpG qH 

(i) 






 

2

CB
sin  = 

2

A
cos  

(ii) OyHc  A = 90 h±, Wp£ 






 

2

CB
tan  Yp `p²¾ \Wp Hc} & 

Op£ 

OyHc tan (A + B) = 1 AWy tan (A – B) = 
3

1
 h±, OYqH 0 < A + B < 90,  

A > B h±, Wp£ A AWy B Yp `p²¾ \Wp Hc} & 

19. qM§Wc 2 qeM, 5 g±.`r. AcZqeApg Yy qBH M§Hc Yr 8 g±.`r. d¥^r qBH eWc 
(Orep) PQ h± & P AWy Q E\c g\cf cyIpep£ Ap\} qeM q^¥Yv T E\c 
HRYrAp£ h²¾ & TP Yr d¥^pBr \Wp Hc} & 

 

qM§Wc 2 

Op£ 

qg§Z Hc} qH M§Hc Yy \qcJW (^phc Nv¥hYr) ^Vr MWtc_tO YrAp£ Aph }̀ 
gph`Vy YrAp£ _tOpep£, M§Hc Yy HzYc E\c g¥\vcH H}V ^Vp£YrAp£ h²¾ (A¥WqcW 
HcYrAp£ h²¾) & 
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20. 6 `r. M¡mr AWy 1·5 `r. Tv¥Kr qBH ²±¾hc qeM \pVr 10 km/h Yr Mpd ²¾pd 
e±h qchp h± &  30 q`¥R qeM qBh ²±¾hc qHW²y¾ IyWc³d Yr qg¥OpBr Hc gHyJr 
OYqH qg¥OpBr Yy dBr 8 g±.`r. Tv¥Ky Imy \pVr Yr d}m ht¥Yr h± & 

21. qHgy Hdpg RrMc ²y¾ \vcy gpd qeM Ap\Vr Hdpg Yy 40 qeqYApcXrAp£ Yr 
J±chpkcr hyS¾ qdIr ^pc¥^pcWp gpcVr A²¾®gpc ²}¾R HrWr & qBH qeqYApcXr 
qOW²y¾ qY²¾ J±chpkc qchp Eg Yp §̀Z`p²¾ (A¡gW) \Wp Hc} & 

qY²¾p£ Yr 
qJVWr : 

0 – 6 6 – 12 12 – 18 18 – 24 24 – 30 30 – 36 36 – 42 

qeqYApcXrAp£ 
Yr qJVWr : 

10 11 7 4 4 3 1 

22. qHgy Hpc Yy Y} epqB\c Ap\} qeM HYy qBH YvOy ²¾pd ²¾hs RHcp£Yy & hc qBH 
epqB\c Yr \§Wr Yr d¥̂ pBr 21 g±.`r. h± AWy 120 Yy H}V WH Kt¥` Hy g³pBr 
Hc gHYp h± & \§WrAp Yr hc qBH t̂hpc (ger\) Yy ²¾pd qOW²¾p IyWc³d 

gp³ ht¥Yp h±, Eh \Wp Hc} & (
7

22
  Yr ecW~ Hc}) 

I¥T Y 
\of²¾ g¥qIAp 23 W~ 30 WH hc qBH \of²¾ Yy 4 A¥H h² ¾& 

23. 13 `rRc qeApg epdy qBH M§HcHpc \pcH Yr gr`p (\qcZr) Yy qBH q^¥Yv 
E\c qBH I¥_p qBg Wcªp£ ²¾pd J§TVp h± qH qBg \pcH Yy qeApg Yy Y}²~¾ qgcy 
q^¥YvAp£ Wy ^Vy ³pRHp£ A AWy B W~ I¥_y Yr YvcrAp£ Yp A¥Wc 7 `rRc h}ey & 
Hr AOyhp Hc²¾p `t`qH²¾ h± ? OyHc h± Wp£ Y}²}¾ ³pRHp£ W~ qHW²¾rAp£ YvcrAp£ Wy 
I¥_p JTVp MphrYp h± ? 

24. OyHc qHgy A¥HJqVqWH dmr Yy mez \Y Yp m JtVp, qBgYy nez \Y Yy n 
JtVp Yy ^cp^c h± (m  n), Wp£ YcgpG qH A¥HJqVqWH dmr Yp (m + n)ep£ 
\Y qg³c h}eyJp &  

Op£ 

qHgy A¥HJqVqWH dmr Yy \±hdy qW¥²¾ g¥qIAp Yp O}m 18 h± & OyHc \±hdy AWy 
Wrgcy \Yp£ Yp JtV²¾³d gpPy A¥Wc Yp 5 JtVp h}ey Wp£ qW¥²}¾ g¥qIAp \Wp Hc} & 
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25. qBH qWo_tO ABC Yr cM²¾p Hc} qOg qeM _tOp BC = 6 g±.`r., AB = 5 g±.`r. 
AWy  ABC = 60 h}V & q³c qBH qWo_tO Yr cM²¾p Hc} qOgYrAp£ _tOpep£  

 ABC YrAp£ g¥JW _tOpep£ Yp 
4

3
 JtVp h}V &   

26. qM§Wc 3 qeM, gOpeR Yy dBr ^qVAp qBH ^dpH YcgpqBAp qJAp h±, 
qOhmp Y} S}¾gp£ – qBH KV AWy qBH AcZJ}dy W~ ^qVAp h± & ^dpH Yp 
AZpc qBH 6 g±.`r. _tOp Yp KV h± AWy qBgYy E\c qBH AcZJ}dp h±, 
qOgYp qeApg 4·2 g±.`r. h± & \Wp Hc} 

(a) ^dpH Yp Htd gWhr IyWc³d & 

(b) ^Vy h}By ^dpH Yp ApqBW²¾ (KV³d) & (
7

22
  Yr ecW~ Hc}) 

 

qM§Wc 3 

Op£ 

E\c W~ Itdªr qH ^pdRr f¥Hv Yy qN¥²¾H Yy AHpc Yr h± qOgYr f`Wp (Zpc²¾ 
g`c§Xp) 12308·8 g±.`r.3  h± & EgYy E\cdy AWy hyS¾dy M§HcpHpc qgqcAp£ Wy 
AcZqeApg Hc`epc 20 g±.`r. AWy 12 g±.`r. h²¾ & ^pdRr Yr EMpBr \Wp 
Hc} AWy ^pdRr ²¥¾v ^²¾pV Yy dBr ecW~ qeM qdAp£Yr JBr ZpW Yr M§Yc Yp 
IyWc³d \Wp Hc} & ( =  3·14 Yr ecW~ Hc})  
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27. OyHc qHgy qWo_tO Yr qBH _tOp Yy g`p£Wc ^pHr Y} _tOpep£ ²¥¾v eI eI q^¥YvAp£ 
Wy HRV Yy dBr qBH cyIp qIMr OpBy Wp£ qg§Z Hc} qH qBh YvgcrAp£ Y}²~¾ 
_tOpep£ qBH hr A²¾®\pW qeM e¥TrAp£ Op£YrAp£ h²¾ & 

Op£ 

qg§Z Hc} qH qBH g`H}V qWo_tO qeM HcV Yp ecJ ^pHr Y} _tOpep£ Yy ecJp£ 
Yy O}m Yy ^cp^c ht¥Yp h± & 

28. OyHc 1 + sin2  = 3 sin  cos  h± Wp£ qg§Z Hc} qH tan  = 1 Op£ tan  = 
2

1   

h± & 

29. hyS¾ qYWr JBr ^pc¥^pcWp e¥T ²¥¾v ‘W~ eZ \oHpc’ Yr ^pc¥^pcWp e¥T qeM ^Yd} 
AWy q³c EgYp ‘W~ eZ \oHpc’ Yp W}cV (ogive) qI§M} & 

ecJ 
A¥Wcpd : 

20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 70 – 80 80 – 90 

^pc¥^pcWp : 10 8 12 24 6 25 15 

30. qBH \Zcr ZcWr Wy Imªr `r²¾pc Yr Np£ Eg gqXWr qeM 40 `r. eZycy d¥̂ r h} 
Op£Yr h± OYqH gvcO Yp EMpV H}V 60 W~ KR Hy 30 h} Op£Yp h± & `r²¾pc 
Yr EMpBr \Wp Hc} & (qY§Wp h± 732·13  ) 


